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1. Which of the following figures don't have

equal areas if both the figures are on same

base and between same parallels ?

A. Two parallelograms

B. One parallelograms and one rectangle

C. Two Triangles

D. One parallelogram and one triangle

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_w9ubg6OuaJHD

2. Which statement is true ?

A. Two congruent figures have always equal

dreas.

B.Two figures having equal areas are

always congruent.

C.A triangle and a quadrilateral can be

congruent.

D. Two congruent figures have only some of

its parts equal.


https://dl.doubtnut.com/l/_VnAGFJW14edU

Answer: A

° Watch Video Solution

3. ADEF is divided into two triangles

ADEM and ADFM of equal areas. Which
of the following statement is true ?
A.ADEF and ADF M have equal bases.
1
B.ar (ADEM) = 3 ar (ADEF)
C. Mis the mid - point of side EF.

D.ADEM and ADF M and congruent.


https://dl.doubtnut.com/l/_VnAGFJW14edU
https://dl.doubtnut.com/l/_8lDD2LFDh2Fh

Answer: C

o Watch Video Solution

4. The ratio of the areas of the triangle and a

parallelogram in same parallels and on the

same base is :

A.l1:2

B.4:1

C.2:1

D.1:4


https://dl.doubtnut.com/l/_8lDD2LFDh2Fh
https://dl.doubtnut.com/l/_EvdQHfFC5sHY

Answer: A

o Watch Video Solution

5. The area of a parallelogram PQRS is 36¢cm?.

M is any point on the side RS. The area of

APMQ is.

A. 18cm?

B. 9cm?

C. 36cm?

D. 12cm?


https://dl.doubtnut.com/l/_EvdQHfFC5sHY
https://dl.doubtnut.com/l/_SZTn5OJ955cA

Answer: A

o Watch Video Solution

6. AY and BZ are the diagonals of a

parallelogram ABYZ, intersecting at O.

ar(ABY Z) =?



https://dl.doubtnut.com/l/_SZTn5OJ955cA
https://dl.doubtnut.com/l/_Ja93DkrOn1Xv

A. greater than ar(AABZ)
B. is equal to ar(ABOA + ABOY)
C. more than ar(ABOA + ABOY)

D. less than ar(ABOA + ABOY)

Answer: B

o Watch Video Solution

7. AD is the median of ABC and E is any point

on AD. Which of the following statement is


https://dl.doubtnut.com/l/_Ja93DkrOn1Xv
https://dl.doubtnut.com/l/_vGxDnX8KQzPM

true ?

A.ar (AABD) >
B.ar (AABD) <
C.ar (AABE) =

D.ar (AABFE) =

Answer: D

ar (AACD)
ar (AACD)
ar (ACED)

ar (AACE)

| =


https://dl.doubtnut.com/l/_vGxDnX8KQzPM

I &9 Watch Video Solution I

8. In the given figure ar
(AABC) = ar (AADE).ACis the median
of AADE. If ar (ACE)

— 14cm? thenar (AABC)=?

A

A. 14em?


https://dl.doubtnut.com/l/_vGxDnX8KQzPM
https://dl.doubtnut.com/l/_YYVleEjMDVfr

B. Tem?

C. 21cm?

D. 28cm?

Answer: B

o Watch Video Solution

9. In the given figure area of ligm (DEFQG)

= 4Ocm2, then ar (HDG) + ar (HEF) =?

A. 10cm?


https://dl.doubtnut.com/l/_YYVleEjMDVfr
https://dl.doubtnut.com/l/_tQcWEaAd5Xtf

B. 20cm?

C. 30cm?

D. 40cm?

Answer: B

o Watch Video Solution

10. In the given figure PQRS is a parallelogram.

Which of the following statements is true


https://dl.doubtnut.com/l/_tQcWEaAd5Xtf
https://dl.doubtnut.com/l/_OQZCBnkYAIj4

A.QZ = RZ

B.ar (APYS) = ar (PQRS)
C.ar (APQZ) = %(PQRS)

D./PQZ = /YRZ

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_OQZCBnkYAIj4

1. STEP is a parallelogram and ar (STEP)
— 84cm® The length of the altitude of

AAPFE is



https://dl.doubtnut.com/l/_P1pAGQzPRMWj

C.7cm

D. 14 cm

Answer: C

° Watch Video Solution

12. M, A and P are the mid-points of the sides

DE, DF and EF of A DEF respectively. Which of


https://dl.doubtnut.com/l/_P1pAGQzPRMWj
https://dl.doubtnut.com/l/_ASVFNJZvdt9A

the following statements is true ?

D

A.ar (AMPF) =2 ar (ADEF)

1

B.ar (AMPF) = 5 (ADEF)
1

C.ar (AAMP) = 7 (ADEF)
1

D.ar (AMPF) = 5 a (ADEF)


https://dl.doubtnut.com/l/_ASVFNJZvdt9A

Answer: B

o View Text Solution

13.STOP is a rectangle STAR is a parallelogram
in the given figure.

Which of the following statement is true ?

o A P R



https://dl.doubtnut.com/l/_ASVFNJZvdt9A
https://dl.doubtnut.com/l/_PwSsMSwkr3zx

A. Perimeter (STAR) > Perimeter (STOP)
B. Perimeter (STAR) < Perimeter (STOP)
C. Perimeter (STAR)= Perimeter (STOP)

1
D. Perimeter (STAR) = 2 Perimeter (STOP)

Answer: A

° Watch Video Solution

Part A Fill In Blanks


https://dl.doubtnut.com/l/_PwSsMSwkr3zx

1. The area of a triangle is half the product of
any of its sides and the corresponding

altitude.

o Watch Video Solution

2.The area of parallelogram on the same base

and between the same parallel lines are

o Watch Video Solution



https://dl.doubtnut.com/l/_19JLTIGyYu2u
https://dl.doubtnut.com/l/_QTarfMuSs87Z
https://dl.doubtnut.com/l/_Bgr9bBZKyyH4

3. A diagonal of a parallelogram divides it into

two triangles of equal area.

o Watch Video Solution

4. Area of trapezium = 3 X height x State

True or False:

o Watch Video Solution

5. The median of a triangle divides it into two

| & I


https://dl.doubtnut.com/l/_Bgr9bBZKyyH4
https://dl.doubtnut.com/l/_Qqc6xqiVpU4K
https://dl.doubtnut.com/l/_6SXTDU32vlHZ

| ¥ Watch Video Solution |

6. The diagonals of a parallelogram are equal.

(True Or False)

o Watch Video Solution

7. If both the diagonals of a quadrilateral
divides it into four triangles of equal area,

then the quadrilateral is a rhombus.

o View Text Solution



https://dl.doubtnut.com/l/_6SXTDU32vlHZ
https://dl.doubtnut.com/l/_3goUZdVEMQQu
https://dl.doubtnut.com/l/_N2G1ebHMjb0U

8. If area of Parallelogram ABCD is 80cm? Find

the area of AAPD.
A

o Watch Video Solution

9. If area of Parallelogram PQRS is 88cm? find

K.


https://dl.doubtnut.com/l/_aj6TNeIKny7s
https://dl.doubtnut.com/l/_2M4PPfYbtw92

wem

Pre— ——= 0

o Watch Video Solution

10. PQRS is a Parallelogram and PQM is a

triangle. If area of PQM = 18cm?. Find the


https://dl.doubtnut.com/l/_2M4PPfYbtw92
https://dl.doubtnut.com/l/_BjdyBLM7db31

area of PORS.

S M

Q

o Watch Video Solution

M. In AABC, AD is median. If area of

AABD = 25¢m? find the area of AABC.


https://dl.doubtnut.com/l/_BjdyBLM7db31
https://dl.doubtnut.com/l/_TVJId6QsE4Ds

° Watch Video Solution

12 In the given figure area

ASRN = 21em*RQ = 6¢m find PQ.

P ™ IQ

of



https://dl.doubtnut.com/l/_TVJId6QsE4Ds
https://dl.doubtnut.com/l/_21bx97PItrBG

I o Watch Video Solution

13. In the figure ABCD and ABFE are
Parallelograms then find ar (ABCF).
If ar (ABCE) = 18cm?

ar (ABCD) = 25c¢cm?

[ P . F

o Watch Video Solution



https://dl.doubtnut.com/l/_21bx97PItrBG
https://dl.doubtnut.com/l/_d39gYhpsZ5cb
https://dl.doubtnut.com/l/_3rIqOt2TyxXk

14. Two parallelograms are on equal bases and
between the same parallels.

The ratio of their areas is

° Watch Video Solution

15. In AABC, D, E, F are respectively the
mid points of the sides AB, BC and AC. Find
ratio of the area of ADEF and area of

AABC.

o Watch Video Solution



https://dl.doubtnut.com/l/_3rIqOt2TyxXk
https://dl.doubtnut.com/l/_rrZ4Z72JJzfU

16. If the base of a parallelogram is 8 cm and

its altitude is 5 cm then find its area.

° Watch Video Solution

17. If two triangles are on the same base and
between the same parallels. Then find the

ratio of area of the two triangles.

° Watch Video Solution



https://dl.doubtnut.com/l/_YnIhnlI0K0gR
https://dl.doubtnut.com/l/_i82LFdkgGB4J

18. In given figure. If area of parallelogram
ABCD is 30cm? then find ar

(AADE) + ar (ABCE)

o Watch Video Solution



https://dl.doubtnut.com/l/_t5N5VLIQmytI

1. Show that a median of a triangle divides it

into two triangles of equal areas.

° Watch Video Solution

2. P and Q are any two points lying on the
sides DC and AD respectively of a

parallelogramABCD. Show that

ar (APB) = ar (BQCQC).

o Watch Video Solution



https://dl.doubtnut.com/l/_MYNml0z37CYk
https://dl.doubtnut.com/l/_srt5a5qlJDlG
https://dl.doubtnut.com/l/_FCcA56YX09yO

3. If the ratio of altitude and area of the
parallelogram is 2:11 then find the length of

the base of parallelogram.

o Watch Video Solution

4. Show that the diagonals of a parallelogram

divide it into four triangles of equal area.

° Watch Video Solution



https://dl.doubtnut.com/l/_FCcA56YX09yO
https://dl.doubtnut.com/l/_kHhpZjx4MKJG

5.D, E and F are respectively the mid -points of
the sides BC, CA and AB of a A ABC Show

that (i) BDEF is a parallelogram

o Watch Video Solution

1. Diagonals AC' and BD of a trapezium

ABCD with ABCD intersect each where at

O. Prove that ar (AOD) = ar(BOC).

| e |


https://dl.doubtnut.com/l/_IGTd8KfQhYfd
https://dl.doubtnut.com/l/_kZEI3pGKLJqP

& Wwatch Video Solution I

2. ABCD is a parallelogram whose diagonals AC
and BD intersect at O. A line through O
intersects AB at P and DC at Q. Prove that ar

(APOA) = ar (AQOC).

° Watch Video Solution

3. Diagonal PR and QS of quadrilateral PQRS
intersects at T such that PT= TR and PS= QR,

show that ar (APTS) = ar (ARTQ)


https://dl.doubtnut.com/l/_kZEI3pGKLJqP
https://dl.doubtnut.com/l/_EmJft19XaqcZ
https://dl.doubtnut.com/l/_RtJa6vf23hQ1

° Watch Video Solution

1. Parallelograms on the same base and

between the same parallel are equal in area.

o Watch Video Solution

2. Triangles on the same base and between the

same parallel are equal in area.



https://dl.doubtnut.com/l/_RtJa6vf23hQ1
https://dl.doubtnut.com/l/_zLJgDvO9qT31
https://dl.doubtnut.com/l/_EJr4E93piL8k

o Watch Video Solution

3. XY is a line parallel to side BC of a triangle
ABC.If BE | | ACand CF | | ABmeet XY
at E and F respectively, show that

ar (ABE) = ar (ACF)

o Watch Video Solution

4.If E, F, G and H are respectively the mid-

points of the sides of a parallelogram


https://dl.doubtnut.com/l/_EJr4E93piL8k
https://dl.doubtnut.com/l/_gg63ZM8QbDgD
https://dl.doubtnut.com/l/_GA82RgshRneF

ABCD, show that

1
ar(EFGH) = Ear(ABCD).

o Watch Video Solution

5. A farmer has a square plot of land where he
wants to grow five different crops at a time.
On half of the area in the middle he want to
grow different crops.(A)

Explain by diagram how he can divide the area
to fulfill his purpose.

(B) For same base and between the same


https://dl.doubtnut.com/l/_GA82RgshRneF
https://dl.doubtnut.com/l/_XOpLgiEst2vP

parallels write the relation between area of

triangle and parallelogram formed.

° View Text Solution

Practice Test

1. Show that a median of a triangle divides it

into two triangles of equal areas.

o Watch Video Solution



https://dl.doubtnut.com/l/_XOpLgiEst2vP
https://dl.doubtnut.com/l/_sJ0tV1UH60lh

2. The base BC of AABC is divided at D, so
1
that BD = EDC'.Prove that ar(AABD)=

1
gar(AABC)

o Watch Video Solution



https://dl.doubtnut.com/l/_6WxYwSRfeDrd

